(@) 1o} 1
0.8F E
0.6 .

8O

(9}
0.4F .
0.2 O  Observations s

—— Model
0.0 .
0.0 1.0 2.0 3.0
Time, t (x10%s)
(C) 1.0 00 00000 _0 o
o

0. b

0. b
QO
[}

0. b

0. © Observations E

—— Model
0. b
2.0 3.0 4.0 5.0 6.0 7.0
Time, t (x10%s)
(e) 1.0 ©000 O ° A
o

0.8 .

0.6 b
8O
S

0.4 .

0.2 ©  Observations =

—— Model
0.0 b
4.0 6.0 8.0 10.0 12.0

Time, t (x10%s)

(@ 1.0

0.8

0.6

c/c

0.4r

0.2

0.0

©  Observations B
—— Model

1 1

6.0 8.0

10.0

12.0

14.0 16.0

Time, t (x10%s)

18.

(b) 1.0 00 A
0.81 E
0.6 R

&

)
0.4 E
0.2 ©  Observations E

—— Model
0.0 E
1.0 2.0 3.0 4.0 5.0 6.0
Time, t (x10%s)

. (d) 10_ OOoOOOO T
0.8r B
0.6 i

8O
[}
0.4r B
0.2r © Observations B
—— Model
0.0 B
3.0 4.0 5.0 6.0 7.0 80 9.0 10.0
Time, t (x10%s)
(f) 1. 0 B 000 T
0® °
0.8 .
0.6 i
80
o
0.4 © .
8
]
0.2 iy © Observations .
—— Model
0.0 i
4.0 6.0 8.0 10.0 12.0 14.0

Time, t (x10%s)

Figure 8. Breakthrough curves at different distances. (a), (b), (¢), (d), (¢), (f) and (g) represent breakthrough curves at 10, 20,

30, 50, 60, 70 and 100 cm. Gray dots represent the data measured from tracer experiment. Solid blue lines are the results based

on the Lagrangian-based model.



